
平成 31年度　ソフトウェア情報学部　一般入試（後期）

１ 解答

[問 1] (a) 1

(b) 1

(c) 10

[問 2] x =
5±

√
13

2
， 5±

√
3i

2

[問 3] （証明略）

２ 解答

[問 1]
−→
OP = 1

3

−→
a + 1

3

−→
b

[問 2]
−→
OR = t

3t− 1

−→
b

[問 3] (a) t2

3t− 1

(b) 最大値 1
2

(
t = 1

2
, 1

)
，最小値 4

9

(
t = 2

3

)
３ 解答

[問 1]
(
2
3

)n

[問 2]
(
2
3

)n
−

(
1
2

)n

[問 3] 5n − 22n+1 + 3n

6n

[問 4] 5n−1 − 22n−1 + 3n−1

2 · 6n−1

４ 解答

[問 1] (a) π
4

(b) log
√
2

(c) I1 =
π
8

+
log

√
2

2
，J1 =

π
8

− log
√
2

2

[問 2] In = π
4(n2 + 1)

+ n
(n2 + 1)

log

√
2(n+ 1)

2
，Jn = nπ

4(n2 + 1)
− 1

(n2 + 1)
log

√
2(n+ 1)

2


